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H| 3 - ofstojst (62) 61.2 66.5 71.5 55.0 60.2 61.4 62.5 54.8

* Base’Z} 30ECt oo
= Al EMALZ] B2
F) st 7|t 77| H <

tu

S0l =2l

Jof w2t 019 Xfo|7t e = ASZ

[lL]
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*
CNE

=1

CH

MF.._

40
Jor

1
3
K+

O Matrix &4 Zit k= w2L}t ¢t

L}. Matrix

A

E|

il
70

K

<l

Ko

10| kK|

A0 o2 100.0%2 =M, 2t kel

Ch=s

9

ofl

X

2+
<

)
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1
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%
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74.0
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19.0
20.9
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OlEd Ol= o) o
3-1) Al UEE [CEnS]
7F b5E Anp (HH)
O Oistis Xt W M3nap £20] 75282 7t &1,
Ct2o2Z "t =2 03 (74778) > ¥ iy73.3%) =¢
[A3 8] XH UAFE [t K]
(Base=TH|, n=712)
(CH )
E;{LE'!HI A2 v0.7 A07
FACHH|
Gap v1.7 v1l.3 AO.1 w27
74.0 75.2 73.3 74.7
Manat misiaminy Hmop o212
TH | Gap (M5 - TH|)
TEY| Gap (2023 13817] - 2022 13t7])
X OEEE AE dre
1) A DR AR L) MR 2 AN As HF
2) BE OiEg BB 1 M5 s2 ®MA AE WP
[& 13] XI¥E HFE [fstw]] - SEHA S48
am A2 A AHFE H3uat il Huot =273
= = = =
HH| (712) 74.0 75.2 733 747
e A (280) 737 753 726 714
°= Of X} (432) 742 75.2 737 76.3
184 (286) 73.0 747 722 72.1
2stiA (145) 76.5 77.8 75.2 743
el 35hiH (153) 72.1 73.1 713 75.6
43H4 (125) 75.7 75.6 75.8 79.4
of (1)* 79.2 83.3 75.0 -
SJtCyst (100) 75.0 744 75.7 76.1
=22 H X0 | (54) 76.0 74.6 773 782
Oj=-CIRtQIChE | (111) 69.9 72.2 68.2 67.9
PISOHL Mo PIAIRICHSE | (20)* 72.3 75.2 70.4 72.1
chapcst WEED a71) 80.9 83.4 793 80.0
Atz|otstlst (107) 71.6 713 724 72.1
Alstolst (17)* 79.7 84.6 78.9 55.0
=9flst (70) 70.2 73.8 67.7 70.3
Hacorstoist | (62) 66.5 65.9 65.5 747
* Base/F 30ELf §O0& SN0 {9
o A SRR SHS 0| M2t 0.12] XO|7 AT & U

F) oy J|ep 27] M2

- 30



14 ()
O Matrix &4 Zit k= w2L}t ¢t

<r
il 7|

L}. Matrix

L=

=
=

MHEE S]] (Matrix =)

EH
=

ol

X232 3

o
T

o
T

&0
Kio

EaLl] \

i
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o

X

Tox R oW om T ™|z z %
IS 0 [EN AR [N SIS = =
drl ®A| R A 4r 4r RO | &O ®O =o
K| K| Ol K| K K Klo | Klo Klo Klo
H el N ol N @ OV S o 9 9 | 9 n N O N
x__c ) [¥e) <t © [¥e) N © [¥e) Vo) [¥e) [¥e) LN © [¥e) O © [¥e) ©
Nl O Y| | 9 O ¥ N 0 O | 1N M — — | —| O
o] N~ o [e0) <t LN LN o 9V o eV o O O LN 9V <
| B o T O S S e A O N O N e N e N e N e N S I N B N
oo | 8o . L il
T | oF o = e i e o
T K 20 = ~ -
o | o o I - i =n 0
o | @ B o E] n ar
R <V 71 E = ;_._I {
Mo | or of | < 0 o Hi o
’l | % | g1 E = o ol
o~ | H = | H o L 5 m
i = | o i eIl E
00 | Mo = 00 2 =T H
i ERCT) T =1 Al
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E =
m_J
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Ct. 2=5E A0t tigtus - ¥3uah
O M3t L & mufe| MEY et =F0| 794F 2 J1E w11, g2 M3 uit LHE
o MEH/FEHT78.1F) > LYot ME wit 7fM(76.27) S2 =¢
[1 10] XYY BEE [fSGLS - B DY
(Base=TH|, n=712)
(GRS
E;{LE'!HI A12 A22 v6.1 AS4 A4 A0S8 A10
FACHH|
Gap v1.7 v1.3 v0.3 v2.6 vil4 1.1 v0.9 v1.1
74.0 75.2 762 9.4 781 74.8 75.0
67.9
HMEmat CIFtME  HMZans M2 ol MZ Ut FZanle] ®E A
=2 i/ P MEHZLR  HRM S IOl A8Ay AQT UIE SefubAl sk
ce g8
NEEE
HH|CHH| Gap (M - ZH)
TEH| Gap (2023 1817] — 2022 18H7))
X OEEE AE dre
1) AH DR Kl L MR T2 WA As HF
2) BE OiEg BB 1) M5 s2 ®MA AE P
[® 15] XtE UFE S| - H3u1H - SEX E4E
. = Mg | H2 HZ | B
o | m2 |HEP| B | aafo | aF | mue) | @
| 8¢ S | A= | 2 | (2ol | Arod A of
T A | UEE g | ma | aw (BES HSH) 2° ) 3Y
= r - [F=] A xS Sk (Agd/ aFf ___%I'é!
= T | EE | f8d | HdE | Z1Hd
S| H H S| H S| S| H
A (712) | 74.0 75.2 76.2 67.9 79.4 78.1 74.8 75.0
. EFX} (280) | 73.7 75.3 74.5 70.5 78.1 77.8 75.8 74.8
c= Of X} (432) | 742 75.2 77.3 66.1 80.3 784 74.2 75.1
1384 (286) | 73.0 747 76.2 68.5 789 76.8 73.3 746
23tA (145) | 765 77.8 784 71.0 817 81.0 774 774
st 35t (153) | 721 73.1 73.5 62.6 78.1 77.5 739 734
45H4 (125) | 75.7 75.6 76.4 68.4 79.4 78.2 76.2 75.0
55t Mm* | 792 83.3 750 | 1000 | 750 | 100.0 | 75.0 75.0
SatCist (100) | 75.0 744 73.0 66.5 77.5 785 785 725
=R EXOS | (54) 76.0 74.6 75.0 72.2 77.3 75.5 73.6 74.1
Ol=-CIAFQICHSE | (111) | 69.9 72.2 75.2 64.2 75.9 75.2 70.7 71.8
oMo AHRICSH (20 | 723 75.2 81.3 78.8 76.3 73.8 73.8 67.5
| du ety AHEHCH S (171) | 809 834 86.1 66.7 90.5 88.3 827 86.3
Atz|otstlst (107) | 716 713 69.9 713 729 713 713 71.0
Astoyst A7) | 797 84.6 85.3 83.8 83.8 88.2 77.9 88.2
=9lst (70) 70.2 73.8 73.2 72.1 789 76.8 71.1 70.7
HI-tsois | (62) 66.5 65.9 66.5 57.7 71.8 69.0 65.3 64.9
* BaseZ} 30ELCt M2O2 N0 {2
o A SRR SHS RO M2t 0.12] K07 AT & U

F) oy J|er 27] M
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N
o
N
w
rc
Jo
ro
=]
10
El
El
Ho
4>
0]
A

e | o el
Ch S ZI CHstns - M3 oY Mg
O Ma9d 2 Mot s 761822 LIEHH
(8 S8E HE :58% 28 8H : 225% =8 SH : 71.8%)
O SHA EMYZ oX}(76.5H), 28HH(78.67H), AMSHTHEH88.2™) A =H LIEHE
O HHH HIAL-sHfse 5 7MC2 715 W2 It
[AZ 1] A HEE [Oas - BT AT LY Mg
(Base=MH|, n=712)
H4 HlR (21 Vs, 22) oy - 7 20234 8 HI el - %)
Bot2% Top2%
778 6.1 5.8 | 7.8
39.9
31.9
22.5
o o« m WA B
202214 202314 e =2y HE 2% He
L 2%
[E 16] XAIE U= [[iStug - M3 AT =Y Mr] - SEHX S48
o2 o 2 . 10073
22 4| g5 | PR | 28 | 3B | gg | Bo2 | Mid | Top2 | m4
% % % % % % % % H
HH| (712) | 1.7 4.1 225 | 319 | 399 5.8 225 | 718 | 76.1
" =N (280) | 2.1 3.9 243 | 296 | 400 | 6.1 243 | 696 | 754
= of X} (432) | 14 42 | 213 | 333 | 398 | 56 | 213 | 731 | 765
18t (286) | 14 3.1 259 | 350 | 346 | 45 | 259 | 696 | 746
2%t (145) | 0.7 48 | 186 | 310 | 448 | 55 | 186 | 759 | 786
of i 35t (153) | 26 3.9 209 | 294 | 431 6.5 209 | 725 | 76.6
435t (125) | 2.4 56 | 216 | 288 | 416 | 80 | 216 | 704 | 754
53t (N)* 0.0 0.0 0.0 0.0 | 1000 | 0.0 0.0 | 100.0 | 100.0

StCyst (100) | 3.0 4.0 16.0 | 400 | 370 | 70 160 | 770 | 76.0

ZHIXCHSE | (54) 5.6 9.3 13.0 | 259 | 463 | 148 | 130 | 722 | 745

111) 3.6 0.9 29.7 | 351 30.6 4.5 29.7 | 658 | 72.1

EEOHLIHIO RAAHIRIE

=&

20 | 0.0 5.0 350 | 250 | 350 5.0 350 | 60.0 | 725

L
of

71) | 0.0 0.6 10.5 | 281 60.8 0.6 105 | 889 | 87.3

(
(

| du et AredCHst (1
Atz|otstolst (107) | 09 47 | 364 | 318 | 262 | 56 | 364 | 579 | 694
AetCist 17* | 00 0.0 11.8 | 235 | 647 0.0 118 | 882 | 882

=< Chst (70) 14 43 243 | 386 | 314 5.7 243 | 700 | 73.6
B3 = fstofst | (62) 0.0 145 | 339 | 258 | 258 | 145 | 339 | 516 | 657

* BaseZt 30ECH o2 Mo {2
A EMAE 220 et 0.12 Xto|7t Ly
F) std 7|t &7 H <

ok

A
T M
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O WYt LY Cpot mef A0| 75482 LN | e 1L
{(7358) > WQF wmute of ZE
O W wito| CHFsh mQF AStLh
a3 12 EL |
(Base=TH|, n=712)
(CH - )
E:.;II::!HI v0.7 v0.38 v0.5
Ay
Gap vi7 AO01 v0.6 A03
73.3 73.2 73.5
" mobamnt R oote]  mobmat
2] et XL B OiHRA
3 =S
THCHH| Gap (M £ - TH|)
HEHC{H| Gap (20234 1&7] - 2022 1&7])
X HEE AME
1) A DR AR L) MR 2 FA As HF /2 22 o A A WP
[E 17] XI{E Tt s - H
. L 350) 2% | BY
o | *'5|*L-| 5Ci wafo| | i}
TE At B | s | 22 | 9% 2+ | w4
Eg ZHs} Hid | FZapd
H S| H H = H
A (712) 73.3 75.4 724 73.5
A EX (280) 72.6 75.2 724 726
c= of X} (432) 737 75.5 725 74.0
1544 (286) 722 75.2 712 726
25t (145) 75.2 75.3 73.8 76.6
of i il (153) 71.3 72.9 71.1 71.1
45t (125) 75.8 78.6 75.2 74.6
55t Mm* 75.0 75.0 75.0 75.0
SatCst (100) 75.7 78.0 74.8 76.5
== HXOS | (54) 77.3 77.8 78.7 76.4
Oj=-CIAQICHE | (111) 68.2 69.1 67.1 69.1
SISO [HIOPIAHIRICHEE  (20)* 70.4 76.3 65.0 71.3
| du s NEDNE 171 79.3 81.7 79.1 79.4
Atg[pstoist | (107) 724 75.0 70.1 72.0
MBS a7n* 789 85.3 779 80.9
=25l (70) 67.7 70.7 66.1 67.9
HI-arsiciat | (62) 65.5 65.3 66.5 64.9

* Base’/} 30ELCt Mooz sfMo| RQ

= ol SMAE g2 ol wEk 0.9 X0l 7t

F) st Jlet 87| Al
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O CHYSH H|mat T2 Jj4/2 Y 2RHXNS0| 810822 71 &8

[A% 13] AAE UFE: [HuSs - Huar == 5H]

(Base=ZH|, n=712)

€9

HA|CHH|
Gap A07 A23 A21 A11 w19
HHEChH|
—
Gap w17 w27 w35 v22 v2.0 w3.1 w24
74.7 76.3 76.1 75.1 72.1 74.0
Hunp o2z Cffshdjunt M/ ol Hluurxzagol dHju Z2g  HabHQl H|
2]  ZRINYRY ESHALAZ s =g HE oMY Z2IY Y

TIH|CHH| Gap (M & - TIH)
HACH] Gap (20234 187] - 20224 18&H7])

A HHEE A LY ME EE AN M HE
2 BE UELX  EE U ME g5 TA M=
[Z 18] AHlE VEE (4SS - H@I Z2IW)] - ST SHE
crorpst | A5/ | Hlamt -
e | o | SR | BY | HE | wan gume
5 | Ob= D2 -l | D2 ) el S e - Sz L:]_ H
TE M| E5 [F=1] e | _El_} - H'Q'o St egT
2% = [
= H H H H = H
A (712) 74.0 747 76.3 76.1 75.1 72.1 74.0
A = (280) | 737 714 73.0 73.2 72.5 67.0 71.2
c= of Xf (432) | 742 76.3 77.8 775 76.4 746 75.3
15t (286) | 73.0 72.1 73.7 74.2 729 69.3 70.6
28 (145) | 76,5 743 75.0 744 73.8 73.8 747
of 3=t (153) 72.1 75.6 76.5 77.4 76.5 73.8 73.8
45t (125) | 757 794 82.7 80.6 79.8 73.8 80.2
55t M* 79.2 - - - - - -
SatCst (100) | 75.0 76.1 783 783 75.7 73.0 75.0
22 HEOE | (54) 76.0 782 81.0 79.0 81.0 72.0 78.0
Oj=-CIRFRICHS | (111) | 69.9 67.9 70.8 68.2 69.3 64.6 66.7
PO MO PAIRL St (20)* 72.3 72.1 67.9 75.0 714 714 75.0
Chapcy st NEI (171) | 80.9 80.0 80.9 81.3 80.4 78.8 78.8
Atz apstLyst (107) 71.6 72.1 76.0 72.5 71.5 69.5 71.0
Ayl a7n* 79.7 55.0 450 60.0 60.0 55.0 55.0
Sotlsl (70) 70.2 70.3 72.0 727 70.5 65.9 70.5
B -ofstofst | (62) 66.5 747 74.2 773 74.2 727 75.0

* Base/l 30E LI H2OZ M0 |2
AW EMAtE] 22| et 0.1 Kfo|7t e = AF
F) st 7|t 77| H <
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2} Qs 0| HDI T2 Ho|FE

O Yt o|= Hlmut T2 &oj AYS 625%2 LIEHL

(Base=TH|, n=712)

(=H - %)
H|AH, 37.5
[E 19] Y3} 0|F HjmI ZT2I1W Ho{AY

75 A% g ek

% %

A (712) 62.5 375

L EF Xt (280) 52.5 475
°= O X} 432) 69.0 310
1%} (286) 50.7 493

28tA (145) 74.5 25.5

st 35t (153) 69.9 30.1
43t (125) 66.4 33.6

5%}t (1)* 100.0 0.0

Stryst (100) 51.0 49.0
2otZEXOs | (54) 574 126
Oj=-CIRtRICh=E | (111) 60.4 39.6
SO MO PIAHRICHEY  (20)* 50.0 50.0

Tty st A CH st (171) 784 216
Atz|atstoist | (107) 57.9 421

Alobrlsk (17)* 52.9 471

=2} Effoh (70) 64.3 35.7

H 3 =atstoist | (62) 58.1 419

" Base/f 302Cf Hoog SN0 59
s A4 SRR B ol met 0.19] Kto|7t WA & ¢
z) etd J|et 27| Al

ojo
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20234 &

Sl Ll =P =)y

[

s

Er XA

O 2023%“35 1847 I:||Il._j_l} T2 A0 HES 784%2 LIERL
- WM 71E Hol YL 49.0% F=FEL

O ZzI# H0 Fg2 HASNSH88.9%)0| iAoz =&

[ 15] 20238tH £ 18H7| H|ma} =23 Xo|ZA

>
(<3|
=

(Base=Q%t 0| H|mut =213 (o] ABX}, n=445)

(Tl - %)
2023=HAE HOEH 20232t 1217, HoEE

H|ZH
51.0
75 Al e e
% %
S| (445) 784 21.6
A A (147) 76.2 238
O Xt (298) 79.5 20.5
154 (145) 814 18.6
284 (108) 76.9 23.1
of i 3ofd (107) 794 20.6
4ok (83) 74.7 25.3
55t (1)* 0.0 100.0
SofCist (51 74.5 25.5
=2tREA0s | (31) 80.6 19.4
O|=-CIXtRICHEE | (67) 716 28.4
HSOH Mo AR (10)* 70.0 30.0
EhapCHst AtERHCH St (134) 828 17.2
Atz|apskoist (62) 80.6 19.4
AlStoy st (9)* 55.6 44.4
=< Chst (45) 733 26.7
H I =atstoist | (36) 88.9 11.1

* Base/I 30ELf §OOE A0 KO
i SMAE P20l et 012 Ko7 LEE = UAS
F) st 7|t 77| H <2
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o = S CF O] x o] SIATIS
3-2) Atel'e QHEE [SHUAE O F/AY TIZX|Y, SEX|E]
7k BHEE Z3b (HA)
O SHAME S F/HY RNEX|Y, stEX[@ At U sh&X[f ZE230| 781FC 2 71 =10
Ct2oz FHEY/ZTZX|AT7.67T) > sl ME|/RZ24EH76.8F) =2
O StEX|Y T2 W2 AMSIisSt0] 86 1HCE 7Y =3
[12 16] AH2'E FE [FUAE U F/AY WX, SHEX|Y]
(Base=TH|, n=712)
(CH - )
’.‘;';‘ILE'!HI a1l A19 a24
Ay
Gap w27 w31 vid Al7
76.8 77.6 78.1
StaRle =203
FHCHE| Gap (M5 - FH)
Aoy Gap (20234 187] — 20224 187))
X PHEE ME U
1) XY PHEE X L ME g JA A B/ 2) B2 UEE 22 W MR E5 TN s Ee
[ 21] XS HFx [HEME U F/EY TEX Y, SS5XE] - SEX E4E
& Eres SHAl S EroN
2 g MEEEE | o dS .. |smemexy | HENG
S| S| H S|
MA| (712) 75.7 76.8 776 78.1
bt SR} (280) 79.3 83.9 745 76.2
S of X} (432) 739 73.8 79.5 79.1
184 (286) 747 75.3 75.0 76.8
25t (145) 783 83.6 79.5 747
of i 35t (153) 727 714 75.2 77.5
435H4 (125) 77.8 78.4 79.3 833
55t (M* 75.0 75.0 - -
Zafcyst (100) 75.0 74.8 75.0 75.0
S35 ZHEXCfS | (54) 86.2 89.4 883 76.7
O|&.CIXFOITHSH | (111) 66.0 69.3 729 58.3
SISO HO ALK (20)* 65.2 55.2 100.0 75.0
ChofCy St NS 71 79.6 79.7 80.8 85.8
APS|arstcist | (107) 72.6 69.9 80.1 73.1
AISHC an* 83.3 822 - 86.1
Sotryst (70) 70.0 71.1 68.8 843
H I cotsiofst | (62) 715 73.2 743 82.1
* Base/I 30ECf MoOz 3|M0| K9
o A SRR SHS R0 Mat 0.12] K07 AT & U

F) oy J|et 27] M2
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2] (Matrix 24)
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=
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] =2 78] (Matrix &4A)
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=

%]

e
o
=
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Ch. BHRE Zip (Sl Ma|4E/ElZ AR
O SHH ME|AEHZTIZAE L) AEO| CHstler = 20| 781822 71E &1, L2222
HEOl T2 dA =Z(76.07F) > &JHO & =F(75.8F) =¢
O MEQ| Cfatdel = F2 2I2HXM|S0| 894T 2R I =&
[AE 20] AtE ST [SHd M| dE/Z2HE]
(Base=H|, n=712)
(ERa R )
E:.;II::!HI Al1 A24 A01 A17 A03
HAChy|
Gap w27 w31 28 v39 - v3.2
78.1 75.8 774 76.0
Mgto| Atetol At Aretol
etie =g s g oI ES ZE M e
NEZ =
FH ChH| Gap (M= - FH)
M HC{H| Gap (20234 1&7] - 20224 1847])
X DFSE AE R
1) XY BEE A U AR B HA A2 BE
2) B2 =g BE U MEB o2 HH Me B
[E 25] XE 5 [sH ME|dE/ZXI2 4T - SEX SE4E
° SHA Alg| AtCHo| ALEHO| AtCHO|
. LS mehe | defun | AP | dehyn | a2 g
TE Ml S CEy gg |58 T8 | '£g [
H H H H H H
HH| (712) 75.7 76.8 78.1 75.8 77.4 76.0
pEr = (280) 79.3 83.9 85.3 83.7 83.7 83.0
°= Of A} (432) 73.9 73.8 75.0 72.5 74.7 73.0
13t (286) 747 75.3 78.1 73.3 75.6 74.2
25t (145) 783 83.6 823 82.8 84.9 84.4
of i 35t (153) 72.7 714 71.3 71.8 72.2 704
45t (125) 77.8 78.4 80.5 775 78.4 77.1
58 (1)* 75.0 75.0 75.0 75.0 75.0 75.0
SJtCyst (100) 75.0 74.8 77.7 75.9 73.2 72.3
=R EXLOS | (54) 86.2 894 89.8 88.0 90.7 88.9
O|=-Cl|Xtolchst | (111) 66.0 69.3 71.6 69.3 68.2 68.2
SO IHOPIAHIRICHEE (20)* 65.2 55.2 58.3 54.2 54.2 54.2
Tty st N =1, (171) 79.6 79.7 80.6 78.1 80.6 79.3
Atz| arstryst (107) 72.6 69.9 69.4 67.6 713 713
Aloprlst (17)* 83.3 82.2 84.6 80.8 827 80.8
=2 Effish (70) 70.0 71.1 76.6 703 70.3 67.2
HIacorstofst | (62) 715 732 70.6 73.5 76.5 72.1

* Base’/ 302Ct Moo=z {40 72
o Al SMAE| SH2 o a2t 0.1 Xo|7h

T o

) oy J|er 27] M2
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N
o
N
w
rz
Jo
ro

Cl =2 Zat FE/T2X] )
O FHA/ZXZX|Q W F/AY T2 T2 =0 &0 0|7 79582 M =10,
CI2oz F/&Y, XNE ZZ2O3Mo| XZE FH| =3(78.17-) > CrYst F/&Y, Tz oz
N 7748 > F/EY, 22 T2 ZE(755F) =Y
O F/&AY T2 T2 T 80| FEALUOLIHO|MLISO| 100.0E2E 71 =&
(17 21] XYY HEE [FH YL/
(Base=MH|, n=712)
93
E:":'!HI A19 A17 A38 A24 v0.2
FHAry| .
Gap w2, w14 v22 A15 w19 w29
75.7 77.6 77.4 79.5 78.1 755
AQEEE B S AN ot 2/Ale)  A/AY M2 Zeal A A2 e
=] Az Z=Td o8 &01 80| Z2 o) et 2 1
FE FH £2
N
HH | Gap (M% - TH)
U] Gap (20234 13H7] — 20224 18H7])
X OEEE A dre
1) A DR AR L) MR 2 FA As HF
2) BE oiEg BB 1) & st ®MA AE WP
[E 26] XIE UL [F HH/ZEX|H] - SEHX SEE
C}oksH x| 7XFoH
o | mmey | saG, | e | ES s
= JTETES aly | Hexw | ToE | 55T, m2amel 55,
= = H e it E=|l| = [ f_l -’I.:-H === =]
N [FF] | 2208 #egol | BREY| Tam
= = = = = =
A (712) 75.7 77.6 774 79.5 78.1 75.5
A EFXF (280) 79.3 74.5 76.3 782 73.7 69.9
c= Oof Rt (432) 73.9 79.5 78.0 80.3 80.7 78.8
184 (286) 747 75.0 78.1 76.6 734 71.9
2354 (145) 783 79.5 784 819 79.3 78.4
el 35t (153) 727 75.2 741 76.8 75.9 74.1
434 (125) 77.8 79.3 789 813 813 75.8
55t (m* 75.0 - - - - -
SatCist (100) 75.0 75.0 75.0 75.0 75.0 75.0
=2t HXOE | (54) 86.2 88.3 93.8 90.6 84.4 84.4
O|=-CIRtelc st | (111) 66.0 729 70.0 76.7 76.7 68.3
SO MO KA (20)* 65.2 100.0 100.0 100.0 100.0 100.0
| du ety AR CHSH a71) 79.6 80.8 80.0 82.0 84.0 77.0
Atz|atstlist (107) 726 80.1 80.7 80.7 784 80.7
Alstyst a7n* 83.3 - - - - -
=9lst (70) 70.0 68.8 68.8 729 68.8 64.6
HE=arstofst | (62) 71.5 743 72.2 77.8 72.2 75.0
* Base’} 30ELCt Moo2 Mo R2
o A% SWAE| BHS RO M2t 0.12] K07 LM £ U

ZF) ofd J|E 27| N2l
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O &5Al 1o 587 7Y E=50| 784822 M =1,
Cleoz sh&X|Q m2 30| s M2 = 2(7837H) > CHYsh sh&X|Y =23 JiM
|

(Base=ZH|, n=712)

(9 )
Ezl!:gul A24 A19 A26 A27
FHUACHH|
Gap va2.7 Al7 A19 A17 Al4
77.6 78.3 78.4
SR Z2 Cish skl SexY e  sigAlg Dol
E) EERED/ EEEN=Y SE5E7| QU T
HE=E
HHChE Gap (45 - HA)
TECHH| Gap (20234 1817| — 20224 1817])
X DHEL AE di
1) A DR AR L) MR 2 AN As HF
2) HE OIER BB I M5 a2 ®MA s HP
[E 27] RHY'E UHEE [ESEXY T2IYW] - X sS4
sSa xS JHhgst SEXE | SEXxd
A2l ooa stEX|@l | Z2Rol | Z=2zM9
TE o ol B B = i = s L i
74 E= 72 =
~ ~ ~ ~ ~
[=] a a a
A (712) 75.7 78.1 77.6 783 784
A e EFXt (280) 79.3 76.2 75.5 75.5 776
c= Oof Rt (432) 73.9 79.1 78.6 79.7 789
18t (286) 747 76.8 76.2 76.2 78.0
2354 (145) 783 747 75.0 75.0 74.2
el 35t (153) 727 77.5 77.7 777 77.0
43HH (125) 77.8 83.3 81.4 84.3 84.3
55t (M* 75.0 - - - -
SatCist (100) 75.0 75.0 74.0 75.0 76.0
=22 HXOE | (54) 86.2 76.7 77.5 80.0 725
O|&-CIRtelchst | (111) 66.0 58.3 57.4 60.3 57.4
HIEOHMHPKIAHRICHSY | (20)* 65.2 75.0 75.0 75.0 75.0
| du s At CHSH a71) 79.6 85.8 85.5 85.5 86.5
Atz|atstrlst (107) 726 73.1 73.6 722 73.6
Alstoyst (17)* 83.3 86.1 83.3 83.3 91.7
=9flst (70) 70.0 843 86.1 80.6 86.1
H I =atstofst | (62) 71.5 82.1 78.8 84.6 82.7

* Base/t 302CH HoB2 sfMo| {2
AW EMfXAtE] SRS R0 w2t 0.19] Kto|7t dhdE 5 AT
F) gtd 7|t 27| X<
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20234 &

ro
B
El
El
Ho
4>
0]
>

B}. 2023SHA £ 18| Ateh AS
O 20238tH % 157 ME d™2 357%= SA LIEHE

O 2023std = 1517| &F de2 M=to] 765%2 7td =3

[A3 23] 20238HA = 187 AT AH

(Base=TH|, n=712)

(4 - %)
H|Zd, 643
[# 28] 20238tk 157] &E 4d - SEHA 5§44

7 A% e el

% %

A (712) 35.7 64.3

A EF Xt (280) 26.8 73.2
O Xt (432) 414 58.6

1%} (286) 315 68.5

28tA (145) 33.1 66.9

st 35t (153) 353 64.7
43t (125) 47.2 52.8

5%}t (1)* 100.0 0.0

Stryst (100) 28.0 72.0

2l XDst | (54) 50.0 50.0
Oj=-CIRtRICh=E | (111) 19.8 80.2
SO Mo AR (20)* 30.0 70.0
el oty NI ey a71) 57.3 427
Atz| otstrlst (107) 25.2 74.8

Alobrlsk (17)* 76.5 235

Sotost (70) 229 77.1
HIatstoist | (62) 27.4 72.6

" Base’f 3050} §OOZ HO 9
A% SWAtE| W2 Yol met 019 KHo|7H 2 4 9
F) st Jlet 27| Ml

ojo
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O MY dEXxt=s FE Kb MESHHIE0| 76.0%2 7Y =2
O Xt A HE2 AHHLNSH0| 89.8% =2 7t = LIELE
[AB 24] & CHAX}
(Base=4T AKXl 5+38E, n=254)
(EH2] - %)
76.0 B
26.8
- —
e o4 Sl S HIE T B@HE Ox
[E 29] T CHEX - SEHX 548
g AEA X =m SHA AR MIE] > ghek mg
% % %
A (254) 76.0 26.8 16.5
o SR} (75) 733 25.3 24.0
e= Of X} (179) 77.1 274 134
18t (90) 744 11.1 20.0
25t (48) 729 417 6.3
ot 35t (54) 74.1 352 204
43t (59 83.1 30.5 16.9
55hH (1)* 100.0 100.0 0.0
SatCi st (28)* 75.0 214 28.6
SR XCist | 27) 704 333 14.8
O|&-CIXtolCy st | (22)* 727 318 31.8
HUSOHIHoRIAHIRICHEE  (6)* 50.0 50.0 0.0
ChopCh st AtEHCH =t (98) 89.8 12.2 8.2
Atz|atstlst (7)* 66.7 40.7 222
Alatcyst (13)* 76.9 15.4 154
Sotryst (16)* 375 50.0 12.5
HA-atetcfst | (17)* 706 58.8 294
* Base’/f 30ELCF 202 o0 79
o A% SWAE| BHS RO M2t 0.12] K07 LM £ U

F) otd J|E 27] N2l

F) S R 7IEHE 7] M2
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20234 &

ro
=]
10
El
El
Ho
4>
FOo
>

AAEIE 290 M2 JHMAFES TRX|E ZHHO| 4224%2 7HY B, OS2
5%) > | 2H(17.1%) > 7|EH10.5%) > HX[= 2HEHB4%) =
O XZX|E 2T AMHCNSO| 468%2 71 =H HEHE
[1E 25] SHAMdEHME 29 At
(Base=TH|, n=712)

(TH21 - %)

42.4
26.5
171
10.5
3.4
UEXE E0].- 5 CLE A 7|} MBI =
BH 2H 2 2
[E 30] SHINTHIE 29 HMAIY - TR S
IEX = 0|8 o 2| A 7|E} HEX| =

Je JIVEES 3 =l =i 2
% % % % %
S| (712) 424 26.5 17.1 10.5 34
a1 EF Xt (280) 41.8 30.7 104 14.6 2.5
°= O Xt (432) 428 23.8 215 7.9 3.9
184 (286) 31.8 30.1 18.5 14.0 5.6
28t (145) 46.9 26.9 15.2 9.7 14
st 35t (153) 425 30.1 203 6.5 0.7
43t (125) 60.8 144 12.8 8.0 40
55t (m* 100.0 0.0 0.0 0.0 0.0
SofCist (100) 44.0 32.0 9.0 12.0 3.0
=2tRH A0S | (54) 296 222 29.6 18.5 0.0
Oj=-CIRRICH=E | (111) 432 32.4 14.4 8.1 1.8
HEOHL MO KIAHRICHSY  (20)* 20.0 30.0 35.0 15.0 0.0
EhapCst AtERHCH St (171) 46.8 18.1 21.6 9.4 41
Atz|atstoist | (107) 46.7 26.2 14.0 9.3 3.7
AlStoy st a7)* 353 41.2 11.8 0.0 11.8
=2} Effoh (70) 38.6 214 18.6 14.3 7.1
H 3 -otstofst | (62) 435 35.5 11.3 8.1 1.6

* Base’l 30ELCt Mooz sfMo| R2
AW EMAtE] 22| et 0.19] Kfo|7t HdE = AF
F) std 7|t &7 M <
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AL 4% 0|F FAAXIY Z2IW Kol Y

(Base=TH|, n=712)
(S - %)

H|Zd, 853

78 A% e o
% %

A (712) 14.7 85.3
e = (280) 139 86.1
Oof Xt (432) 15.3 84.7
15t (286) 5.6 944
28tA (145) 20.0 80.0
st 35t (153) 183 81.7
43t (125) 256 744

55t (1)* 0.0 100.0

Stryst (100) 13.0 87.0
ZotZE XSt | (54) 14.8 85.2
Oj=-CIXtRICHSE | (111) 135 86.5
HEOHLHO ALY (20)* 5.0 95.0
EhapCHst AtHCH St (171) 14.6 85.4
Atz otstoist | (107) 20.6 79.4

Algtcyst (17)* 0.0 100.0
=2 Lt (70) 17.1 82.9
H 3 c-otstofst | (62) 14.5 85.5

* Base’/| 30ELCH Moo= sfMo| R9
A EMAE 220 et 0.1 Ko7t EhdE =
F) st 7|t 77| H <

Ojo
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20234 SYUNEtT TKHLX BEE FAL

Of. 2023 18H7| FAAX|Y =23 *to] AH
O 2023t 1517| F YK =220 HO 2 81.0%= =2 LIEHH
[ 27] 20238t = 187 UK =2 1W ®of AH

(Base=Y%t O|F FEH x| =21/ Fof AL, n=105)

2023t & EHO{FE =HEE 1217], 63

Base : 712

HIEY,
88.1

[E 32] 20238tH L 18H7| x| =203 Ao A - ST EME

78 A% e el
% %
A (105) 81.0 19.0
A EF Xt (39) 82.1 17.9
Of Xt (66) 80.3 19.7
184 (16)* 56.3 438
25t (29)* 82.8 17.2
el 35t (28)* 82.1 17.9
45t (32) 90.6 9.4
55t - - -
SatCist (13)* 84.6 15.4
ElZEIXCist | (8)* 75.0 25.0
O|=-C|XFQICHS | (15)* 933 6.7
HIEOH MO RIAHIRICHSE | (1)* 100.0 0.0
ChopCh st At Chst (25)* 80.0 20.0
Atz|apskost (22)* 773 22.7
Alstoyst - - -
=l st (12)* 58.3 17
Hacarstofst | (9)* 100.0 0.0
* Base/F 30ELf §o0& SN0 {9
o AN SWAL2| W 0| Mat 012 AHO|7F HME & U

) std J|e 77| M9
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XL FGUX-AT 23 WA
O FBYURIUTH 2P0 M2 HMAZS F YT HE NIl 317HS2 I £,
(@]

2 FEY Z2OW BEH(74%), F-EY LY IH(264%) =

Ct= =
[12 28] FLARIYT 2 A
(Base=T4, n=712)
(EF2 - %)
31.7 27.4 26.4
FHEHAUEH EE M= FHEAd o =g FHEY Loy 3 H
[E 33] FEHX| AT 2F J|MAS - SEHX E4E
oye e F-AdHH HE HZ | FAY zzaM S8 | FAY dojg I H
e T

% % %
A (712) 317 274 26.4
e EFX} (280) 325 232 264
of X} (432) 313 30.1 26.4
15t (286) 315 234 26.6
23tA (145) 303 25.5 29.0
st 35t (153) 32.7 29.4 27.5
43H4 (125) 328 36.8 216
55t (1* 0.0 0.0 100.0
= tcst (100) 36.0 22.0 30.0
=22 HXOE | (54) 27.8 315 18.5
O|=-C|xFQIChSE | (111) 315 333 19.8
OO PIAHRICHEY  (20)* 35.0 15.0 30.0
| Juers AR CH St 171 25.1 35.7 287
Atz|atstoist | (107) 374 20.6 28.0
AlatCyst (17)* 235 353 353
S9flst (70) 28.6 243 229
Hla-otstoist | (62) 419 16.1 30.6

* BaseZt 30ECH HoB2 Mo {2

A EMfXAtE] SRS R0 w2t 0.19] Kto|7t dhdE 5 UG
F) gtd 7|t 27| X<

F) HuAtgtel TEte RS ®Y| M Q|
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20234 S{Ifsty WSFQX IISE TA}
Xl STAS =23 9IX] ofF
O WHAME ZZ20H QX| OE = 275%2 LIEtE (7 2 S + MM LX|= £3h
[A3 29] XML =27 QX off
(Base=TH|, n=712)
(5%l - %
=2 =.90
AMAHISHAH X
B OE, 451 X8, 185
(£ 34] SRS Z2OY X O - SUX SHE
AFMI S
. gy TS | K, | sdzms| mes
% % % %
A (712) 9.0 18.5 27.4 45.1
e EF Xt (280) 10.7 18.9 275 429
°= Of X} 432) 7.9 18.3 273 465
184 (286) 3.1 10.1 31.1 55.6
254 (145) 55 18.6 20.7 55.2
st 35t (153) 13.7 26.1 288 314
43t (125) 20.0 28.8 25.6 25.6
55t (1)* 100.0 0.0 0.0 0.0
Sotchst (100) 18.0 30.0 13.0 39.0
=22 HXOE | (54) 9.3 204 35.2 35.2
O|=-CIRFRIC S | (111) 5.4 10.8 28.8 55.0
SO Mo RIAHIRICHEL  (20)* 10.0 10.0 35.0 450
| du el At st 71 7.0 19.3 26.9 46.8
Atz|otstolst (107) 84 215 31.8 383
Aletcyst (17)* 23.5 23.5 17.6 353
Sl (70) 29 8.6 25.7 62.9
HI=atsois | (62) 9.7 17.7 37.1 355
* Base/F 30ELf §O0& SN0 {9
o AN SWAL2| W 0| Mat 019 AHO|7F HME & U

) std J|E 77| M9
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7. %t 0| BAX|Y T2 Ho| FE
(o]

(Base=TH|, n=712)
(=H - %)

38 204

H|ZY, 79.6

28 Azl e ies
% %

A (712) 20.4 79.6
. EF Xt (280) 17.5 82.5
°= Of Xt (432) 222 77.8
1%} (286) 147 85.3
28t (145) 214 78.6
of 3opd (153) 24.2 75.8
4ohd (125) 28.0 72.0

55t (1)* 0.0 100.0
Satcfst (100) 24.0 76.0
22 XDst | (54) 18.5 81.5
Oj=-CIRFRICH=E | (111) 15.3 84.7
SOl Mo AR (20)* 5.0 95.0
EhapCst AtRHCH St (171) 29.2 70.8
Atz otstoist | (107) 16.8 83.2
Alstoy st (17)* 17.6 82.4
=2 Chst (70) 12.9 87.1
B3 -utstofst | (62) 210 79.0

* Base’/| 30ELCH Moo= sfMo| R2
A EMAE 220 et 0.1 Ko7t EdE =
F) st 7|t 77| H <

ojo

_52_



20234 &

ro
=]
10
El
El
Ho
4>
FOo
>

Ef, st5X|el =280 2F JHMAE
O St&X|d Z20H 2Fof| M2 JHMArE2 &0 o =7t 38.6%=E 7HY B, CIEe=E
D203 L8 OYl221%) > Z20H 2F 29 I A[Zt0] CHoh21.4%) >
Ot  BH ZE Z3H(13.1%) =
O O &= == AStCieto] 66.7%2 7t =2 LtEFE
(AT 31 eSXd =233 2F J|MALE
(Base=St&X|9l =28 Xo] AEXL n=145)
(L2l %)
38.6
22.1 21.4
13.1
ol o =21 g Z21¥e2d ey ohf Y
Crekst U AZHCH Cts =H 25 ZE
[E 36] =X =2/ 2 A - SEX E4'E
— T2 2O —
o - oz = LH.Q. o i o OlLj 4l =4
xF EH I =N ol O] 7 cll X S
ag JIEI B 0] = =ty CHoES} < REE@%{-LEH stE 213}
% % % %
H| (145) 38.6 22.1 214 13.1
a1 =2 (49) 40.8 16.3 14.3 204
°= Of X} (96) 37.5 25.0 25.0 9.4
184 (42) 333 28.6 214 9.5
234 (31 484 12.9 25.8 12.9
of i 3%t (37) 54.1 16.2 13.5 10.8
45t (35) 20.0 28.6 257 20.0
55t - - - - -
S1tCyst (24)* 375 16.7 83 333
22X | (10)* 50.0 10.0 30.0 0.0
O|&-CIXRtelCys | (17)* 412 17.6 294 11.8
HIEOHL IHOPIAHIRICHEE  (1)* 0.0 100.0 0.0 0.0
Tty st APRHCH S (50) 44.0 20.0 20.0 14.0
Atz arstLyst (18)* 27.8 38.9 22.2 5.6
Alstcyst (3)* 66.7 0.0 0.0 0.0
=2} Effoh (9)* 11.1 333 444 0.0
H I =apstofst | (13)* 38.5 23.1 23.1 7.7

* Base/I 302 LCF B2 40| {9

AW EMAtE] 22| et 0.1 Kfo|7t WE 5+ AF
F) std 7|et ®7| H <

F) MM AR e Vet = E B H <

o=
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o} XY T2 0j%o] 0|9
O St&X|@ =20 0| OlfFEE Oofist Z2M0| UK S22k 7t 40.7%2
JF Sk Ohgo 2 EeME 2 LIHMQR22%) > AlZHE /7t S10{A(20.3%) >
T2 AZICHZ} SEX| Q4OHM(7.8%) =Y
O ot T2 1M0| UK 2t = BEOHLIHO[MEAH UL SO| 57.9%2 7+ =H LIEHE
A3 32] e&Xd =233 O|&Eo ol
(Base=St&5X| =218 O|&0X}, n=567)
(TH - %)
40.7
22.2 20.3
7.8
ot == 40| dedE AMZHFE of87F =213 A|ZHcH7}
UK FEbA 2 LHAM glojM OrX| BFOLAM
[ 37] &&5X|9 =233 o0|Fo o|g - SEHA EME
_ _ - mZ2 e
O S=sd| RedR X | ARG SRt | gzt o
= A4 | AR B2HM LA 201 A OFOFA]
% % % %
b (567) 40.7 22.2 20.3 7.8
a1 =2 (231) 29.4 27.7 247 6.9
o=
Of X} (336) 485 18.5 17.3 8.3
18 (244) 459 20.1 18.0 6.1
2%+ (114) 39.5 24.6 20.2 5.3
of i 3%t (116) 345 26.7 19.8 11.2
45t (90) 36.7 20.0 27.8 10.0
55t (M* 0.0 0.0 0.0 100.0
Satcst (76) 35.5 26.3 15.8 9.2
=R HEXOS | (44) 34.1 114 31.8 13.6
O/ -C|XtICHSE | (94) 404 18.1 25.5 9.6
HIEOHL IHOPIAHIRICHEL (19)* 57.9 10.5 10.5 0.0
Tty st APRHCH S (121) 455 29.8 124 4.1
Atz arstLyst (89) 44.9 20.2 16.9 7.9
AstCist (14)* 35.7 214 35.7 0.0
=2} Effoh 61) 31.1 19.7 344 6.6
H IR =tstoist | (49) 429 26.5 143 12.2
* Base/t 30ECH Mooz Mo |9
o A SWAE| SHS RO M2t 0.12] XO|7t AT & U

ZF) st 7|Ep #7] H <l
ojgo olfel 7|Ete

=2 #7| el
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20234 &

ro
B
El
El
Ho
4>
0]
>

3-3) XjIEH QHEE [SHAXIK] 5 (EHIXI9)]

y

SX[R) A L A A2 ol 2S0| 647 Z AT MR

(Base=TH|, n=712)

[ESaB)

E:.;II::!HI v0° A0S
Ay
Gap A AR:] w23 wil2
63.8 62.9 64.7
QU SHURLK| HE YL AN sh 22
e
THCHH| Gap (M £ - TH|)
HUh| Gap (2023 18}7| - 2022 18}7))
X DHEL AE di
1) A BEE AR LY MR 2 WA ME EHFE
2) HE OIEE BB I M5 a2 ®MA s HP
[ 38] AIH THZ T SHAXIX| 23 (EHAX| )] - SEHXA 54E
X2l g5t igst XI2% sHd
TE A== gt=r S| 25 gh=
~ ~ ~
[=] a [=]
A (712) 63.8 62.9 64.7
A e EFXF (280) 63.8 62.1 65.4
c= Oof Rt (432) 63.9 63.5 64.2
184 (286) 65.9 64.9 67.0
2354 (145) 63.0 62.2 63.8
el 35t (153) 59.4 57.8 60.9
434 (125) 65.3 65.4 65.2
55t (m* 75.0 75.0 75.0
SatCist (100) 61.5 59.5 63.5
=2t HXOE | (54) 65.5 61.6 69.4
O|=-CIRtelc st | (111) 59.8 60.4 59.2
SO MO KIAHRICHSY | (20)* 63.8 60.0 67.5
| du s AR CHSH a71) 71.9 722 71.6
Atz|atstlist (107) 614 60.3 62.6
Alstyst a7* 72.8 70.6 75.0
=9lst (70) 61.6 61.8 614
HI-atsoist | (62) 55.0 53.2 56.9

* Base/I 30ELf §OOE A0 KO
o e SMAE P20l et 012 Ko7 EEE = UAS
F) st 7|t 77| H <
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=
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)] (Matrix 24A)

=

SHAX|

AR EE(
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[# 39] A&
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# By A
H %0 4
Klo K
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20234

Satiety WS+t

B

s

Er XA

3-4) XE UL [HMH[A]
7b otk=x Aap (™H)
O HHMH|A Kt LY Ot | MH[A HE X|S0| 67822 7HE &1, CHE2 2 Ofsh § AMH]
A 28 He|MH6717F) > A™YAY TEH67.08) 52 =¢
O CHgt & MH|A HE HI2 ASCfsto] 735822 71 =3
[A3 35] XtE orEr [HEMH|A]
(Base=TH|, n=712)
(SRS
Ezlg:gul vil5 A06 Al4 A07 vi12
FLACHH|
Gap v1.6 v29 v24 w1 A1 v26
66.4 64.9 67.0 67.8 67.1 65.2
B QIS DEst  BENY FEN EEEINITEN Oht RAMHIA  CfE 2F AT
SEE|lo| MY Mg M2 =8 ma|y ohY ZEM
HEZE
THCHE| Gap (M - TA)
FACHH| Gap (2023 1817 - 2022 12H7))
X UEL Az
) AR OFEEL AR U M B2 HAY As BE
2) B UEL  EE U ME 25 oA M=
[ 40] AIE =X [RAYMH|A] - SEHX S4E
SFAH . e
xtgl 1 S — 9l CH S} 2 )E\q ;_'iA Ealclr‘i'}l-x_i% E
T= 1 2{sk SO E M H| A BAYI= S S
= A} ED | gxxis Ao = =g OFLY
T bl =+~ g%%ﬂg = | HR A | ghy Pty
H H H H H H
A (712) 66.4 64.9 67.0 67.8 67.1 65.2
pene EFX} (280) 66.5 65.0 67.9 67.4 66.6 65.4
c= of X} (432) 66.4 64.8 66.5 68.0 67.5 65.0
154 (286) 67.0 65.6 69.1 67.7 67.1 65.6
25t (145) 66.6 64.8 66.9 67.8 69.3 64.3
el 35t (153) 62.6 60.9 63.1 64.9 62.9 61.1
45t (125) 69.0 67.8 66.8 71.2 69.4 70.0
55t Mm* 75.0 75.0 75.0 75.0 75.0 75.0
Satcist (100) 66.3 65.5 67.3 67.5 67.3 63.8
2 HXELOE [ (54) 67.2 66.7 66.2 67.6 67.1 68.5
Oj=-CIAQICHE | (111) 60.9 58.1 61.7 62.4 61.9 60.4
PO |HoPIAHIRICHSE  (20)* 64.8 66.3 72.5 66.3 57.5 61.3
| du ety NEDE a71 71.8 71.1 73.0 73.0 72.1 69.7
Atg[pstoist | (107) 68.2 65.0 68.9 70.8 68.9 67.3
Alstj st an* 75.6 77.9 75.0 73.5 75.0 76.5
Sotrysl (70) 62.6 58.6 59.6 63.9 68.2 62.9
HI=arstofst | (62) 60.2 60.5 61.7 61.7 59.3 57.7
* Base’/} 30ELCt MO0 =2 A0 72
o A% SWAE| BFS RO M2t 0.12] XHO|7F LM £ U

z) st 7|t 57| Mg
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202349 =

ro
=§j
El
El
Ho
4>
<]
Ral

3-5) XHAE USL [CH A4

7L EE Zat (HH)

O CHef AlE A2 W =M B #4F HOAH0| 687822 Zo|2/dE4d 6348 OiH =7
LtEHE

[A% 37] XAE S (s A4

(Base=ZH|, n=712)

(e E)

HHICHH|

Gap A27 v2.6

HuChy
I_(:i_ag I v18 vis vi19
66.0 68.7 63.4

4r
Ao

HH|CHE| Gap (45 - HH)
| Gap (20239 187] - 202243 137])

D AE UEE A A 28 B d2 B2
2 $8 BEE : $2 U HE 83 HH Mz B
[# 42] A2 UEL [Cfe AlE] - SEX S8E
i g =
2 e =Hoda delt/dad
3 3 3

A (712) 66.0 68.7 63.4
e =P (280) 67.0 69.6 64.5
c= of X} (432) 654 68.1 62.7
1k (286) 66.2 68.1 64.3
2%t (145) 66.6 69.6 63.7
st 35t (153) 63.1 66.5 59.7
45t (125) 68.0 711 65.0
55HA (1* 931 86.1 100.0
S tCHsk (100) 67.6 70.5 64.7
232 =rfst (54) 70.0 71.7 68.3
D= CiXfolchar | (111) 593 645 54.1
QSO Ho AR LSt (20)* 67.5 69.3 65.8
chatcyst AP CHSH (171) 69.3 70.6 68.0
A3 upstoy st (107) 66.8 69.7 63.8
ALyt 17)* 7.7 73.9 69.5
Sofcfst (70) 64.4 67.5 61.3
H| 3 = ofstofst (62) 614 62.9 59.9

* BaseZt 30ECH HoB2 Mo {2
AW EMAtE] 220 et 0.19] Kfo|7t e 5+ AF
F) gtd 7|t 27| 2|
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202341 SYUfEID DL MEE XA}

O ENT Y 7 L
EME ZSHOIX| AM HE|d724%) > =M SHE S24(71.88) S2 =¥

O =MZ 2T X2 SEY2 ZZHEMHT7738) M =4 LIEHE
(1% 39] XE BEE (RS MY - EMB Y ZF BNy

(Base=TH|, n=712)

[ESaB)

FA|cHd
'_ZII fel A7 A45 A68 AG4 A58 A26 A40 v0.7 v0.5 v5.0
ap
ZLECHH
I_(:-l_a:! I v18 w15 AO01 AO01 A02 w27 w45 v0.3 w41 AQ07 w35
72.8 72.4 71.8
66.0 68.7 705 68.6 700 65.3 65.5 610

HUNEE EMB U EAB =A@ SME BB SABL SMAT S AZua Soaly
ZZ Ho| JiYAIZ AXAE  BOO[X| QR mAAM Qe 0|8 27t
AM RS MEY  SRM MY S22
HEZE
THCHH| Gap (M £ - TH|)
HACH| Gap (20234 17| - 20224 1817])
¥ OEE L AR die
1) A BEEE AR L) MR SE2 RN As "HF
2) BE o= B8 1 Mg g2 HM d4& B
[E 44] X WEE (43S MY - EMT D 25 HOA|M] - SER E4E
LR IR IR
ae (B2 B B zm | B SN 4u BT 22|20
o= |45 | MY | &% o|x| | 5F = fl| =Hd oy | A | 2]y
e Al | e [ B AlZH IR Sy | B R (M A o7 | 2%
Ad | HAE | 52 Ha| & | M- HE || ==
2] 4 | 4 R A
H | 3|3 3 3| ™| ™® | ™®H | H®H | H|HA
A (712) | 66.0 | 68.7 | 70.5 | 72.8 | 724 | 71.8 | 686 | 70.0 | 653 | 65.5 | 61.0
JE Ef Xt (280) | 67.0 | 69.6 | 69.0 | 72.1 | 726 | 739 | 71.0 | 720 | 68.0 | 65.0 | 62.5
c= Oof K} (432) | 654 | 68.1 | 715 | 73.3 | 723 | 70.5 | 67.0 | 68.7 | 63.5 | 65.8 | 60.1
184 (286) | 66.2 | 68.1 | 69.6 | 728 | 71.7 | 73.5 | 66.1 | 67.9 | 646 | 645 | 62.5
2354 (145) | 66.6 | 69.6 | 70.5 | 70.7 | 734 | 73.6 | 69.5 | 709 | 67.2 | 69.5 | 60.7
st 35t (153) | 63.1 ] 66.5 | 703 | 71.7 | 703 | 66.3 | 683 | 686 | 613 | 63.2 | 585
434 (125) | 68.0 | 71.1 [ 73.0 | 762 | 754 | 72.2 | 73.2 | 748 | 69.0 | 65.4 | 60.8
55t (M* [ 931861750/ 750 | 750 [100.0| 75.0 [100.0| 75.0 [100.0|100.0
SatCist (100) | 67.6 | 70.5 | 72.5| 753 | 773 | 72.0 | 700 | 71.8 | 67.5 | 643 | 64.0
St E XSt | (54) | 700 | 71.7 | 755 | 773 | 750 | 764 | 69.4 | 71.8 | 70.8 | 66.7 | 62.5
O|=-CIXFRICHSH | (111) | 59.3 | 64.5 | 646 | 67.6 | 664 | 69.4 | 664 | 655 | 60.1 | 64.0 | 56.3
SO MO AHRICKS | (20)* | 67.5 | 69.3 | 71.3 | 76.3 | 72.5 | 68.8 | 63.8 | 72.5 | 70.0 | 63.8 | 65.0
Tty st AtEHCH S (171) | 69.3 | 70.6 | 765 | 76.9 | 756 | 72.8 | 70.6 | 72.7 | 639 | 67.7 | 59.2
Atz apstLyst (107) | 66.8 | 69.7 | 685 | 734 | 72.7 | 745 | 685 | 70.3 | 67.5 | 66.8 | 65.4
AstClst (A7)* | 717 | 739 | 69.1 | 72.1 | 750 | 750 | 779 | 76.5| 750 | 75.0 | 69.1
Sotcyst (70) | 644 | 675|654 | 689 | 689 | 70.0 | 69.3 | 70.0 | 65.7 | 64.6 | 64.3
HI-afstoist | 62) | 614 | 62.9 | 66.5 | 65.3 | 67.3 | 66.9 | 62.1 | 629 | 61.3 | 59.7 | 53.6

* Base/t 30ECH Mooz Mo |9
e SMAE P20 et 012 Ko7 LEE = UAS
F) std 7|t ®7| H <
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Ct 2HFx At (e Ald - Zo4
2 | Zold A2t 66.7HCZE I ,
ol M (65.68) > WF 7|XHH/HIE TH|(64.08) S92 =&

0| 706™CZ 71& =8

AlA AL
== E)

N

)

o

1%

(Base=TH|, n=712)

[ESaB)

LT
v26 v04 407 v43 v27 w4l v20 v33 v5.0
Gap
HAChH
vil8 v19 v26 = v26 v23 v25 vi1s w17 w21
Gap
63.4 65.6 66.7 61.7 63.3 61.9 64.0 62.7 61.0
Yol meld  syeldl  ASM Rl ok me  Admd ey
el HMH ool HNY o MSM HOiZ'S JIRMMIE KA A4 A
8] 7 A - T R 0 I b

TIH|CHH| Gap (M & - TIH)
M HC{H| Gap (20234 1&7] - 20224 1847])

X BIEE ME
X

1) AHY PHEE X L MR ZE WA s B
2) HE OIEE BB I M5 a2 ®MA s HP
[E 45] XE b5 TS AlD - Zoa/AS4] - SEX EdE
AT} AT} s | HE/
o | zol | o | B | ua | aig | A% | @s | R/ "
K| S| a Al glo] | 7|X} | 5 AA|
o= =/2 = EHH| = EHH| =2 = xH Hl 7|II‘ IHE
g Mg T | F2 | AM™H | 2o ;MY | HE BE | £ X |2l
Fz 4 A A 2 1}5 ?.Et” X *_'n?‘_
™ T = el s,g
7::.1 ~ ~ EI 7::.1 ~ ~ EI ~ EI
A (712) | 66.0 | 634 | 656 | 66.7 | 61.7 | 633 | 619 | 640 | 627 | 61.0
A =o (280) | 67.0 | 645 | 654 | 67.5 | 63.8 | 649 | 63.1 | 64.6 | 63.8 | 62.5
c= GRS (432) | 65.4 | 627 | 657 | 662 | 604 | 623 | 61.1 | 63.5 | 62.0 | 60.0
154 (286) | 66.2 | 643 | 66.0 | 67.0 | 62.2 | 651 | 62.7 | 653 | 63.6 | 62.8
28t (145) | 66.6 | 637 | 657 | 67.1 | 622 | 634 | 64.1 | 63.8 | 63.8 | 59.7
st 38t (153) | 63.1 | 59.7 | 63.2 | 63.1 | 583 | 595 | 57.7 | 60.3 | 58.0 | 574
45t (125) | 68.0 | 650 | 674 | 696 | 63.8 | 63.8 | 62.6 | 654 | 648 | 62.4
55 (1y* | 93.1 [100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0
SatChst (100) | 676 | 647 | 65.0 | 685 | 625 | 670 | 62.0 | 66.3 | 645 | 61.8
EotZHACst | (54) | 700 | 683 | 685 | 704 | 67.1 | 69.9 | 67.6 | 681 | 67.1 | 676
O/%=-CIAFQICHSE | (111) [ 59.3 | 54.1 | 59.7 | 61.7 | 50.9 | 525 | 50.2 | 54.5 | 523 [ 50.7
SO HoPAHIRCHSH  (20)* | 67.5 | 65.8 | 67.5 | 66.3 | 625 | 66.3 | 688 | 675 | 67.5 | 60.0
| du s NEE (171) | 693 | 680 | 715 | 687 | 67.1 | 667 | 684 | 686 | 686 | 64.6
Arz|apstoist | (107) | 66.8 | 63.8 | 65.0 | 64.0 | 64.0 | 645 | 62.1 | 633 | 64.0 | 63.6
NN (A7)* | 71.7 1 695 | 69.1 | 70.6 | 69.1 | 67.6 | 69.1 | 72.1 | 69.1 | 69.1
St (70) | 644 | 613 | 66.1 | 675 | 586 | 586 | 589 | 629 | 586 | 59.3
H A3 c-utstofst | 62) | 614 | 599 | 57.7 | 669 | 573 | 63.3 | 585 | 60.1 | 57.7 | 57.7

" Basef 308L Hooz A0 7
= 247 WA B2 et 019] Kol BHT U
F) et 7|gt #7) Mgl

=
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20234 SCYsty WX MHEE XA}

ot 0|8 dd A&
g 7 A|M°| AL SMBAANO| 720%2 THE &1, Theoz
Al

0%) > EMB62.9%) 52 =2

1%
0=
1z
o
8
o

O SHEFAAE2 ZS2HENE0| 815%=2 7t =8

[13 41] 0|8 FH Al

(Base=TH|, 5E+3H, n=712)

20.1
12.5
]
SHAZSAAE SHY A G EAME J“E‘tl-l*- Sot2|g
[& 46] 0|8 AY MM - 8EHX §44
am A2 SHUFAAML | UG EMqE AEHA Sof2| %
% % % % %
A (712) 729 67.0 62.9 20.1 12.5
L EF Xt (280) 69.6 63.2 56.8 19.3 114
°= O X} 432) 75.0 69.4 66.9 20.6 132
1%} (286) 78.0 72.0 64.3 17.8 14.0
28tA (145) 69.0 58.6 58.6 23.4 15.9
el 35t (153) 69.9 64.1 62.7 24.8 13.7
43t (125) 68.8 68.8 64.8 16.0 40
5%}t (1* 100.0 100.0 100.0 0.0 0.0
Satrhst (100) 71.0 64.0 54.0 21.0 12.0
=2tZH XS | (54) 815 57.4 66.7 14.8 74
O|=-CIXFRIC S | (111) 75.7 68.5 53.2 26.1 5.4
OO AIRICHSY  (20)* 65.0 65.0 65.0 10.0 15.0
chapCh st A Cst (171) 73.7 81.9 743 18.1 19.9
Atz|atstoist | (107) 69.2 53.3 63.6 15.9 21.5
Alstoyst (7)* 76.5 76.5 88.2 17.6 5.9
2 otryst (70) 72.9 64.3 457 17.1 14
Hlawotstoyst | (62) 69.4 61.3 71.0 323 8.1
* Base’/| 30ELCH Moo= &0 R
o AN SWRLE| WO MEt 0.12] AHO|7F HME & U

F) oy J|ep 27] M
F) 0|8 dd AE 7|Egs2 7] M2
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7t. 4=E Eaf

O g0l tigh L= TS 8 WE/UY L40| 718822 7t =10, L52= uY +¢
LH /718 A (706F) > 22t g A|AE(705T) > 8 23 BYMH[2(663F) =22
LtEHE

(Base=ZH|, n=712)
(e ®)
HAChH|

0.8 408 A07 A05
Gap v

66.3 70.5 71.8 70.6

1) X BEE K W AR B8 WA AE BE
2 £2 UEE B2 U AR ¥ A Az TR

=9 e 2212 g M3 =9 ny A

=N Al | "EAMHZ A AE LHg/21 WAl | LY /7% HEAl
~ ~ ~ ~
A (712) 66.3 70.5 71.8 70.6
o EF Xt (280) 66.9 69.3 71.5 70.5
= Of Xt (432) 65.9 713 72.0 70.6
15t (286) 66.3 70.0 71.1 70.1
28t (145) 68.6 74.8 75.3 72.9
el 35t (153) 62.3 65.7 68.6 67.3
4ohd (125) 68.0 724 73.2 72.8
55t (1)* 75.0 75.0 75.0 75.0
StCyst (100) 66.0 71.0 713 71.0
=2tRHX0sE | (54) 69.0 71.8 736 718
Oj=-ClRFRICH=E | (111) 59.9 64.0 66.4 64.6
SO [Ho AR (20)* 63.8 73.8 67.5 70.0
EhapCst AtRHCH St (171) 72.2 76.8 80.7 76.2
Atz|atstoist | (107) 65.4 72.2 69.2 70.3
Aloprlst (17)* 75.0 76.5 824 794
Satost (70) 65.7 64.6 65.4 66.4
B3 -utstofst | (62) 59.7 64.1 66.5 66.9

* Base’l 30ELCt Mooz sfMo| R2
AW EMAtE] 22| et 0.1 Kfo|7t HdE = AT
F) st 7|t 77| H <
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20234 SYUNEtT TKHLX BEE FAL

5) F82 7 oA

[E 48] £2 7| oA

L& A+ %
H3oH=0| CHYBOF BhCt (14)* 2.0
nnt=g MElg 5= Qlojof oot (5)* 0.7
Ne/dE5S =2{0of oot (5)* 07
=gl /&S &0{0f BhCt (4)* 0.6
S Dol o 2T BRAL (4 06
M3A=o| MEH0| FFotCt (3)* 04
HE0| £20| &= w|0| st} (3)* 04
3o w2 MEst w4=0| X7t Zastrt (3)* 04
WAI=0| ChFsfof SHE (15)* 2.1
witE/m2 20| A|ZtChIL Chefsiof ShCt (N* 1.0
mie i, MHo|A=/201E BTtst {0 Btofof shCh (4)* 0.6
HEXQl =5 FILHoF shot (3)* 0.4
+=¢o| F/+=FS =0{0f BICt (3)* 0.4
D20 ot S SHE Zotslof oiCt (10)* 14
witE/m2 20| CHsHOF ShCt (5)* 0.7
M| 23 HICHH +=¢ig =jsior ek s, ue, HE §) (4)* 0.6
Z=0d WitE/m2 Mol A|ZtchIt CRFsfof SHot 2)* 0.3
M EXAME AHAA S HoHo 2 THZHoH st Q)* 03
T2 0| AlE/+=AIZtat AXIX| gfotoF shot )* 03
= AHg JHdsiof stot (9)* 13
Atk A4S 7 MsljoF SHCt (8)* 11
Lol Mad/oIxts wHsoF FHot (5)* 07
oA JiMsloF St (5)* 0.7
AEHA 29 9 HiXtE =Cisiof Siot (4)* 0.6
sotz| g4d3t x|@o| Zastrt (3)* 04
e A8 HEBRIO| NFHOR BT (3 04
7|5 AL 740 EHastiot 3)* 0.4
FAAHEE eEelor Bot (3)* 04
ot =2 YH|7} HRstCt (3)* 04
H EQ/=A(tolmtol) JHd o] Hastet (3)* 04
L ol Mg 9 MUo| HRsICHeaH Agh (3)* 04
*Base/[ 30ELf HOO& of40 29
= 9i8, BE/28%, 243F B M9
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6) B2 ST UBE LS ozt 3
7F ™A
O B YA L2 o T BFLS 693HOR LIEN
O 9dz MIYO| 71.78CE 7IF &1, [IZoE A AT 68.6T) HFUH67.6T) =
O B¢ T LS 9B 2 W2 AOISt0| 774828 1Y &
[13 43] S SHMAT [HH] LSS YT Tt =
(Base=ZH|, n=712)
)
E;'ll:ﬂul v1.7 A24 v0.7
HiAcyH|
Gap v0.7 v1.38 A01 w11
69.3 67.6 mna 68.6

TIH|CHH| Gap (M & - TIH)
HACH] Gap (20234 187] - 20224 18&H7])

[B 49] S ST [MAH)] Z3E fIs tiste] =8 - 3EX 544
2z A2 BT StEP M3 o M 3
H H H H
A (712) 69.3 67.6 71.7 68.6
. EF Xt (280) 68.7 67.4 70.8 67.9
= Of Xt 432) 69.7 67.7 722 69.0
15} (286) 68.5 67.2 70.9 67.3
2= A (145) 73.1 71.0 75.7 72.6
st 35t (153) 66.2 63.9 68.6 65.9
43t (125) 70.5 69.0 72.4 70.1
5%}t (1* 75.0 75.0 75.0 75.0
Satcfst (100) 69.2 68.9 72.0 66.6
22 HXLst | (54) 67.1 65.9 69.9 65.4
Oj=-CIXFQICHSE | (111) 62.1 60.6 62.8 62.8
SO P RIARICHSY | (20)* 65.6 64.2 68.8 64.0
ShapCst AtRHCH St (171) 774 75.0 80.4 76.8
Atz|atstoist | (107) 68.0 66.1 70.3 67.4
Aloprlst (17)* 77.1 76.5 76.5 78.2
=2 Chst (70) 66.7 63.9 70.0 66.3
HaLakstofst | (62) 66.0 64.2 68.1 65.5
* Base’/| 30ELCH Moo= &0 F2
o AN STRLE| WO Mat 0.12] AHO|7F HME & U

F) oy J|er 27] M2
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202341 SYUfEID DL MEE XA}

=LA
L} sheole
O SHEYY UIIE Ut thetol = of Ci3t BIts 010150 9SEOR 1Y &1, LHgoz
YEELNSEH(68.0T) > TElsH(65.28) =22 LIEHEH
O QI0jsE2 LIStTisto] 80.9E R I =5
[1% 44] S YA ) ZeE 9l gl =
(Base=TH|, n=712)
(R
!
EZII::!HI w17 A02 w41 w13
Fidrhy|
Gap v0.7 v18 v1.7 w19 w20
69.3 67.6 69.5 65.2 68.0

TIH|CHH| Gap (M & - TIH)
HACH] Gap (20234 187] - 20224 18&H7])

[E 50] 29 S [BEYY] L3S U Cfste] = - STUX S4H

St
2z AEA gz [EEeE] = a5y |EEEEHY
3 = = = =
A (712) 69.3 67.6 69.5 65.2 68.0
A =R} (280) 68.7 67.4 69.3 65.4 67.5
°= Of Xt 432) 69.7 67.7 69.6 65.0 68.4
18t (286) 68.5 67.2 68.9 65.5 67.2
2= (145) 73.1 71.0 73.8 67.4 71.7
el 35t (153) 66.2 63.9 66.3 61.1 64.2
43t (125) 70.5 69.0 69.6 67.0 704
55t (1)* 75.0 75.0 75.0 75.0 75.0
Stryst (100) 69.2 68.9 703 68.5 68.0
=2t2H A0S | (54) 67.1 65.9 68.5 63.4 65.7
O|=-CIXtQICHE: | (111) 62.1 60.6 61.5 59.0 61.3
SO MO PIAHRICHEY  (20)* 65.6 64.2 63.8 62.5 66.3
EhapCHst AtRHCH St (171) 774 75.0 76.3 72.5 76.2
Atz|arstoist | (107) 68.0 66.1 69.9 61.9 66.6
Alobrlsk (17)* 77.1 76.5 80.9 735 75.0
=<t st (70) 66.7 63.9 65.4 62.5 63.9
B3 - atstofst | (62) 66.0 64.2 67.3 59.7 65.7

* Base’/l 302LCt Moo=z {40 2
o A ESMAE| 2ol wat 0.12] AOo|7F HHY + AZ
F) ofd J|E 27| N2l
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-
Ct HEHE
O H39Y ZstE o thete| =0 et E7t= 717822 LIEHE
O M2 AIRLOIS0| 804T2E I =&
[13 45] S SHMOY (MY L3S B et v
(Base=H|, n=712)
(GRS
E;iﬂﬂl A24 A24
FACHH]|
Gap v0.7 AO01 v0.2
71.7
HBo 2 sy HEE HEYE)
NEZE
FH|THY] Gap (M= - FH)
TEY| Gap (2023 13817] - 2022 13t7])
[E 51] S8 stz (39T 2= ot tiste] & - SEX E4E
o = E.ﬁoﬂat 7k '6_'|Fjl_|- =] !
T8 A% S &9 Agd %J-Ejg.%(é_'é-%)
H H H
pabs| (712) 69.3 717 717
A At (280) 68.7 70.8 708
= Of X} 432) 69.7 722 722
154 (286) 68.5 70.9 709
28H4 (145) 73.1 75.7 75.7
el 35t (153) 66.2 68.6 68.6
45t (125) 70.5 724 724
55t (1m* 75.0 75.0 75.0
SatCi st (100) 69.2 720 72.0
2R XCist | (54) 67.1 69.9 69.9
O|=-CIXtelc st | (111) 62.1 62.8 62.8
HIEOH|HOPIAHIRIC S (20)* 65.6 68.8 68.8
ChopCl st AteCHE 71 774 80.4 804
Ats|atstoist | (107) 68.0 70.3 70.3
AstCst (17)* 77.1 76.5 76.5
Soflst (70) 66.7 70.0 70.0
FEESn =0 TP 66.0 68.1 68.1
* Base’} 30ECH Moo 2 Mo R2
» afF SWALZ| W2 0| W2t 019 AO|7F LME & U

) oy J|er 27] M
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20234 &

rio

2. Aol
O S ZoE st tf=te| 3o tiet HI7l= TN XEHAT0| 69.082E 718 =10,
CIEo 2 83N A5AZ(68.87) > &N EXoZ AT 68.67) 52 =2 = LIEtE
O THE XHEAZ2 A0 794F 22 MY =&
[13 46] S YUY A
(Base=TH|, n=712)
(CH - )
EZ“:'!HI v0.7 1.0 w11 v0.3 0.7 v0.5
Elé::’llul v0.7 w11 w15 v13 v0.6 w17 v0.7
68.6 68.3 68.2 69.0 68.6 68.8
MR OfEH QNS ADIONE 2N FNHABNY HoX Bk 8atY A5y
o
HESE
THCHH| Gap (M £ - TH|)
HEHC{H| Gap (20234 1&7] - 2022 1&7])
[E 52] 28 stdole pIMY) - SRt S4E
OIEP%* x|.7|0H1-| xx.l bl %I-2|I_1 o&
I ] = = [=) & '52}1—1
7E aaa| 2% [MESR] S8 I ahos gy TINE Ssaw
H H H H H H H
Sbs| (712) | 693 68.6 68.3 68.2 69.0 68.6 68.8
L EFX} (280) | 687 67.9 67.3 67.1 68.2 68.1 68.6
°= of X} (432) | 697 69.0 68.9 68.9 69.5 69.0 68.9
184 (286) | 685 67.3 67.7 66.7 674 67.7 67.0
234 (145) | 73.1 72.6 717 726 729 724 73.1
st 35t (153) |  66.2 65.9 66.0 65.4 66.5 64.9 67.0
434 (125) | 705 70.1 68.2 70.0 712 71.0 70.0
55t (m* 75.0 75.0 75.0 75.0 75.0 75.0 75.0
SatCist (100) 69.2 66.6 65.5 65.5 67.0 68.0 67.0
=22 H X0 | (54) 67.1 654 67.1 63.9 65.3 65.7 64.8
O|=-CIXtelcist | (111) 62.1 62.8 61.9 63.1 63.3 63.3 62.6
HIEOHLMHP AT (20)* 65.6 64.0 61.3 62.5 66.3 65.0 65.0
| Ju s AR CH St (171) 774 76.8 775 75.9 76.5 76.9 77.5
Atz|otstrlst (107) 68.0 674 66.4 68.2 67.8 66.6 68.2
Alatcyst (17)* 771 78.2 779 779 794 735 824
=3 (70) 66.7 66.3 66.4 66.1 67.1 66.1 65.7
HI=tsois | (62) 66.0 65.5 64.5 66.1 67.3 65.3 64.1
* BaseZ} 30ELCt MO 2 N0 {2
o A% SWAE| BFS RO M2t 0.12] K07 LM £ UG

F) st J|et 87| A
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